Quiz Review Lessons 5.4, 5.5, 5.7 & 5.8 ‘@ u

Practice$4 Factoring Quadratic Expressions

Factor each expression completely.

1.) 3x% +7x+2 2)6y2+7y-24 )
(3040 (x4 (3y+8)(dy-3

3.) 24x* +10x% - 442 R 4.) 16r2-16r-12

A1 1%+ 5 -d ”(Qra—qr‘5>
A58 (Hy-1)(30+3) U (A +1)aAr-3)

5.) 9r2 -12r +4 6.) 9x%-3x-2
(3r-2)3r-2) (3x+1) (BX-2 )

7.) 3x2 +5xy-2y2 8.) 4x2 —20x + 25

(2x-y Y X+3y) (3x-5) (3x-5)



9.) 16x* + 142x - 180 10.) 6x* + 37x? + 45x
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Practices-s ...~~~ Quadratic Equations
Solve each equation by factoring or by taking square roots.
1. ¥#-18x-40=0 2. 16X =56x 3. 5x¥=15x
(XA (X-a0)=0 \oy2-sbi= 0 Sx2-1S Y= 0
x+a=0 or X-a0=0 g X Cax“’o:()%o 5x (X-3)=0
[X=a or X=a0) % Sy=p_or X730
e 75 (e
4. X*-3x-4=0 5. ¥+9x+20=0 6. 6 +9=-55x
(x-4)(x+ =0 (x2S Y HAD)=0 Lx*455X +4 =D

Y-4=0 or YH=D /1C= or Y54=0 (Gx +)0$4)= 1D

B X="! Fs/m LY=o or AF4=0
@ oL ) ; (=L or %=- )

7. (x+5)°=36 8. 2¥-3x=0 9. 2X+x-10=0
(oaer=\3b Y (A¥-2)=0 (ax45)(-R)=0
45 - Th =0 o0r dIx2=0 A1 S$=0  Or 2=0
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10. 45+ 3x=-1 11. 54 -6x+1=0 12. 3X+1=-4x

0 =43y~ LS%-1) (-0)=D 23441 =D
D= (Y4x41) (_X-O Gi-l=0 or A~1=D (gx+\3c><+\}:o
Uy+i=0 or X-(=D (T(cL or X=! ) 3x4l=p b X0
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Complete the square.
1. ¥+6x+ B [N 2. ¥-Tx+E L-PZZ- 3. ¥+12x+m AL 4. ¥+3x+ B 9

Solve each quadratic equation by completing the square. Lf
5. ¥+12x+4=0 6. ¥-x-5=0
X313 x = -1 3 y=5
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Bl=b xR 43 el ydyop =Sl
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(aow = V32 Dy 2
(o= £VE2 (=3 i
X=-6%\(32 V3P = =
- =2\2l
7. 3¢=-2¢-3 X z-4¥-l B av=-2x+1
2 22 ugy=-l N
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9. 34=—6x+9 X2 -RX+3 10._24°+6x-7=0
3 B3 jaa4=3 ~x 22
X*+oy =
2, -
_3 A 9 - 1+9
| 3%1,_5 x+5x+,q Z T
(v g a_ Y

Evaluate the discriminant of each equation. Describe the nature of the roots
(how many & whether they are reallimaginary) and the nature of the graph.

1. y= 2 +10x-25 2. y=0x-24x 3. y=ax-4x+1
(0Y-4( 1)) GCAN=H((0) (P-4 (40
(60 - (-OD) =00 576-0367b dj j—l(o"é(: "’D
. - v [ ‘
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4. y=4x-3x+1 5. y=xX+3x+4 6. y=-2x+3x-5
(P-4 (V-4 ) (5P 4(-S)
q-le= T AAe==1 4-4o = -3
Amay: ik A 1MAZ
a0es r\o&'6 Inyer S&j—MC& A0es bt ‘L\_ﬁgﬁg does not [nYe rsect
Solve each equation using the Quadratic Formula. X-UALS
7. #=3x+2 %?-34-3=D 8. 105 -23x+12=0
2 3 £\[-3y34 (V- X= 3£V azR-q(16)(1a)
O 2O
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